JJIEeKTPOHHbIE TA0JIUIIBI 10
MaTeMaTHKe
(BestnuuHbBI)

O




EaxmHUIBI Macchl

1T (TOHHA)=1000KT (KNJIOrpaMMOB)
1T (ToHHAa)=1011 (IIeHTHEPOB)

111 (meHTHEeP)=100KIr(K1MjIorpaMMOB)
1Kr(kmaorpamm)=1000r(rpaMmMoOB)
1ir(rpaMm)=1000MI(MUJIJIUTPAMMOB)



EaxmHaunbI (JINHBI

1KM(KaoMeTp)=1000M(MeTpOB)
1im(MeTp)=10aM(ZeITMMETPOB)
1xM(aenuMeTp)=10CM

1Mm( MeTp)=100 CM

1CM=10MM



EaxmHNIbI

1 KM*=1 000 000 M~
1KM>=100 ra(rekrapos)
1KM>*=10 000 a(apoB)
11M*= 100CM*

1AM*=10 000 MM~
1M*=100aM"

1M*= 10 000CM*
1CM*=100MM"~

1 ra(rekrap)=10 000 M”
ira = 100 a(apoB)
1a=100 M~

1a= 10 000aM*

IJIOII AU



EaxvHUIBI BpEeMEeHU

1 muH( MuHyTa)=60c(CcexyHna)
19(gyac)=60MuH(MUHYT)
1¢cyT.(cyTKHn)=24u(uaca)
irogx=12mec.(MecsIieB)
1BeK=100JI€T



EavMHHUIBI CTOMMOCTHN

O




EavHUIIBI BMECTUMOCTHU

O




